
SAP ABAP table FMCONSUM_FUND {Consumable budget type for Fund}

FMCONSUM_FUND

CLIENT [CLNT (3)]

FM_AREA [CHAR (4)]

FUND [CHAR (10)]

FROM_YEAR [NUMC (4)]

BUDTYPE [CHAR (4)]

BT_GROUP [CHAR (10)]

FM01

MANDT [CLNT (3)]

FIKRS [CHAR (4)]

 FMCONSUM_FUND-FM_AREA = FM01-FIKRS 
0..N

1

FMBTGROUP

CLIENT [CLNT (3)]

FM_AREA [CHAR (4)]

VALTYPE [CHAR (2)]

BT_GROUP [CHAR (10)]

 FMCONSUM_FUND-BT_GROUP = FMBTGROUP-BT_GROUP 
{0,1}

1

FMBUDTYPE

CLIENT [CLNT (3)]

FM_AREA [CHAR (4)]

BUDTYPE [CHAR (4)]

VALTYPE [CHAR (2)]

 FMCONSUM_FUND-BUDTYPE = FMBUDTYPE-BUDTYPE 
{0,1}1

FMFINCODE

MANDT [CLNT (3)]

FIKRS [CHAR (4)]

FINCODE [CHAR (10)]

 FMCONSUM_FUND-FUND = FMFINCODE-FINCODE 

0..N

1

T000

MANDT [CLNT (3)]

 FMCONSUM_FUND-CLIENT = T000-MANDT 

0..N

1


